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a.

Definitions

Rights of way"" are listed under network elements. The model unit for "Rights of
way"" is unclear. Could you please specify?"

To oupBoAo “#” agopd Tn povada péTpnong. EidikOTEpa yia 1o AKaiwpara
AlEAeuong, OTTWG @aiveTal oTto QUAAO «Total Network», Tepidaufdveral pia
Movada. Av kKal autd uTropei va BewpnBei pn €0Aoyo, TO OTOIXEIQ TTOU
OUAAEXBNKaV atTd TOUG TTAPOXOUG aPOPOUV Eva OUVOAIKO TTO0O Xwpig va doBouv
AETITOUEPEIEG AVA PETPO KATT.

EmmpooBétwg, dedopévou OTI 0 ATTODOTIKOG TTAPOXOG KATAOKEUALEI £EapXNS OAO
10 OiKTUO, dEV UTTAPXEI aVAYKN VA YiVEl TTEPAITEPW DIAXWPICHOG ava@opIKA PE TA
Aikaiwpata AiéAsuong.

What is subsumed under "network management system"?

A@opd TIG IS TTAATQOPUES TTOU XPNOIYOTTOIOUVTAI YIa TO «network management»
OTTWG dnAwBnKav atd Toug ISPs.

What is subsumed under "eligibility system"?

Apopd TIG IS TAATQOPUEG TTOU Xpnoldotrolouvtal yia 1o «eligibility» OT1TWg
onAwBnkav atrd Toug ISPs.

2 Service definition

The definition and demarcation of wholesale services and calculated element based
costs is not clear.

a. FTTC related:

E.g., the FTTC related costs are differentiated in
* FTTC aggregation
* FTTC BRAS

Since FTTC BRAS > FTTC aggregation, does FTTC BRAS include additional
transport and aggregation in the core network (in contrast to FTTC aggr)?

lNna Tov opBd Tpocdiopioud Tou FTTC BRAS k6oTOUG cuuTtrepIAauBAvovTal
emTTAéOV KOOTN, TA OTTOIa €QAPPOZOVTAl ETTAUENTIKA OTIG BACIKEG UTTNPETIEG, NTOI
oTIg uTinpeoieg FTTC aggregation.



Could you please highlight in figure 3 and figure 4 which network segments are
captured by the respective cost figures?

To FTTC aggregation trepIAapBdavel To THAPA Tou SIKTUOU aTTd TOV TEAIKO XProTn
MéEXPI TO Aggregation L2 (BA KOKKIVO TURAMO OTO OXHO KATWTEPW) evw TO FTTC
BRAS TtrepidapBavel emimtAéov kal TO TUARpa ammd 10 Aggregation L2 éwg 1O
Aggregation L3 (BA KiTpIvo TUANO OTO OXAUA KATWTEPW).
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b. FTTH related:
FTTH related costs are differentiated in
*FTTH BEP
* FTTH Floor Box

Since FTTH Floor Box > FTTH BEP, does FTTH Floor Box include inhouse
cabling (cabling within MDU [multi dwelling units]? Any other additional
network elements?"

MepIAapBaveTtal eowTePIKA KAAwdiwaon Kal onuelwveTal T TO £V AOyw KOOTOG
uTToAOYiICETOI WG TO OPIAKO KOOTOG £VOG 0POPOU.

c. What kind of IPTV functionality is included in the wholesale services considered
by the model? Please specify the role of IPTV for the different services.



Av kai @aivetalr 611 Ta oToixeia IPTV armoteAolv TuAPa TnG UAoTroinong, oev
epapudlovTal oxeTIKoi routing factors. Emopévwg, Ta oToixeia IPTV  dev
ETTNPEACOUV TEAIKWG TO JovadIaio KOOTOG TWV UTTNPECIWV.

Cost allocation

How are the transport related costs in the aggregation modelled? (aggregation
between local exchange and central point of interconnection)

YioBeteital n umoBeon Om kKAGBe aoTikd KEVIPO OI0BETEl TOUAGXIOTOV £va
aggregation switch. ETTopévwg, KaBe aoTikd KEVIPO AgIToupyei oav onpeio
OUYKEVTPWONG. 'Exel yivel TTpOCapuOyr] OTO KOOTOG TTPOKEINEVOU VA TTEPIOPIOTOUV
EMMTTAEOV KOOTN TTOU TMOAVWG Ba TTPOKUWOUV aTTd AUTH TN TTPOCEYYION.

. What is the reason for applying bandwidth related "line weights" in the cost
allocation?

H egpwtnon, kal €1dIkOTEPA N @pdon “bandwidth related line weights” dev civai
&ekdBapn. Ymdapyouv 2 ¢€idn otdBuiong (weights): 1o €va oxetidetal ue TN
XwpNTIKOTNTA Kal To AGAAO [E TIG yPpaupéS. O OKOTTOG TNG XPHong autwy Twy 2
€1IdWV oTdbpIoNG gival va dlapopoTToindei N KaTtavou Tou KOOTOUG TWV OTOIXEIWV
avAaAoya pe To €AV UTTNPETIEG UWPNASTEPWYV TAXUTATWY Ba TTPETTEI VO ATTOPPOPOUV
MeyaAUTepo TUAMO KOOTOUG (TTX aggregation) r} Ye TO €AV TO KOOTOG KATOVEUETAI
ICOUEPWG QVEEAPTNTO TTO TNV TaXUTNTa (TTX KAPTEG vectoring).

Copper and NGA scenario

. What does it mean switching from the Copper Scenario LLU to SLU? Since SLU
costs are included in LLU costs they could be displayed within a consistent
scenario.

Mpaypart Ba prropoucav aAAG To atmoTéAeopa Ba fTav woTdéoo 1O id1o. MNMpodkeiTal
OUCIOOTIKA YIO TNV TTPOCEYYIOT UTTOAOYIOUOU TTOU akOAouBeiTal Xwpig auth va

EXEl EMTITWOEIG 0T JeBodoAoyia.

Is it intended to have different SLU costs depending on the selected scenario
(SLU scenario or copper scenario)?

Ta kK6oTn avapévovtal va gival akpiBwg Ta idia.

The number of subscribers changes when switching between the Copper
scenario and the NGA scenario. The number of total subscribers is higher in the



Copper scenario. Is this due to the exclusion of uneconomic areas in the NGA
scenario?

MNa atmmoQuyrn TTAPEPUNVEIWY, ONPEIWVETAlI OTI OTO Keigevo TnG OnPOCIOg
dlaBouAeucng dev opiCovTal «un OIKOVOUIKEG» TTEPIOXEG. TMEpa aTTd TIG TTEPIOXEG
otrou uAoTtrolouvtal dikTua NGA, yivetal OIGKPION HETALU TTEPIOXWY TTOU
BewpouvTal OIKOVOUIKA BIWOIUEG OAAG Xwpig TpéxovTa TTAAva yia UAOTTOIACEIG
NGA Kkal TTeploXwv TTou Aapudavouyv emmdoTnon. O TTpwTeg BewpouvTtal TTEPIOKES
NGA evw ol deuTepeg Oxl. To oevdpio XaAkoU TtrepIAauBdver kal TIG dUO AuTEG
TTEPIOXEG KATAAANAQ TIHOAOYNUEVEG.

JUVETTWG, Ol OloQOopEG OTOV apPIBUO CuvdPOUNTWY Eival ATTOTEAEOUA  TNG
OUPTTEPIANWNG TWV ETTIOOTOUPEVWV TTEPIOXWV OTO OEVAPIO XAAKOU.

2nuelveTal, €TTiong, OTI Yo TOV UTTOAOYIOPO ToUu KOOTOUG TOU TOTTIKOU BpOX0ou
AauBdvovtal uttTdyn Kal oI cUVOPONPNTES UTTNPECIWY Single play.

Can there be an overlap of the bandwidth 24/30/50 mbps between FTTC and
xDSL? Do the respective subscribers migrate from xDSL to FTTC/FTTH
depending on whether they belong to an assigned area or not?

To povtélo dev TrepIAauBavel PeTaBaon auvdpounTwy. Agv UTTAPXEl ETTIKAAUWN
METOEU TWV BUO BIKTUWV Kal OTO OevApIo XaAKou yivetal n Bswpnon 61 To NGA
OikTUO Oev u@ioTaTal. ZUVETTWG KABE OUuVvOPOUNTAG €UPULWVIKWY UTTNPECIWY
TepINaPPBAveTal 0TNV KaTnyopia XDSL utTnpeoiwy.

d. Does a switch from Copper to NGA imply that all subscribers of an MDF area are
migrated from Copper to NGA (under the precondition that the access area is
already subject to an NGA rollout at that point in time)?

O1Tw¢ avoeépinke avwTépw, dev uioTatal geTaBacn HETAEU Twv U0 BIKTUWV.

5 EUrecommendation on costing and non-discrimination

Where in the model can we find the differentiation between completely depreciated
assets and partially depreciated assets?

O1 dUo dIaPOPETIKOI TUTTOI KEQAAAIOUXIKWYV OTOIXEIWV OEV EI0AYOVTAI OTO PHOVTEAO WG
EexwpioTd oToixeia dIKTUOU, OAAG yiveETOI TTPOCOPMOYN OTNV TIMN OTIG TTEPITITWOEIG
TTOU TUAMATA TOU UTTAPXOVTOG BIKTUOU éxouv atrooBecBei. Ta avwTépw PTTOPOUV va
dlamoTwBoUuv akoAouBwvTtag Tnv TTapdueTpo “Cable Value” oto @UAAO epyaaiog
Catalogue_Config.



